DIE HANDWERKER-MASCHINEN - WELTWEIT 1. KLASSE

'l’ ,A ! ,‘! ! z z ! I MODELL 3702 B

6 MM EINHANDFRASE

001
002
003
004
005
006
007
008

009
010

011
012
013
014
015
016
017
018
019
020

021
022
023
024
025
026
027
028
029
030

031
032
033

034
035

036
037
038
039
040

041
042
043
044
045

9.077.43
9.027.40
9.093.52
$9.093.72
9.094.09
9.093.09
9.027.35
9.092.51

9.096.02
9.094.50

9.090.20
9.027.30

9.094 .51

9.192.69
9.067.62

9.080.01
0.217.04
9.090.10
9.090.07

9.027.24
9.090.07
9.093.98
9.093.92
9.093.90
9.027.76
9.090.81
9.092.34
9.090.03
9.027.80

9.092.40
9.091.17
9.091.01

9.005.71
9.091.18

©9.091.02

9.091.01
9.027.18
9.091.31
9.091.17

9.035.14
9.204 .41
9.027.93
9.091.93
9.027.95

Mutter M 12
Motorgehauseabdeckung
Kohlebursten CB 50
Kohleburstendeckel
Kondensator
Schalter

Feld

Kugellager 627 LLB
lsolierscheibe
Gummistift 4

Feldschraube M 4 x 70
Anker

Gummistift 6
Kugellager 6002 DDW
Klemmscheibe 23
Spannzangenmutter
Spannzange 6 mm
Schraube M 4 x 25
Schraube M

Motorgehause
Schraube M 4 x 18
Kabelklemmplatte
Zuleitung

Kabelschutz
Typenschild
Typenschildbefestigung
Mutter M 5

Schraube M 4 x 10
Fraskorb

FlGigelmutter M 5
Federring 5
Unterlegscheibe 5
Schraube M 6 x 18
Federring 6
Unterlegscheibe 6
Unterlegscheibe 5
Schraube M 5 x 30
Fligelschraube M 5 x 15
Federring 5

Unterlegscheibe 5
Fuhrungsanschlag
Unterlegscheibe 8
Schraube M 5 x 25
|solierabdeckung

MODELL 3702 B



